(0 ¢) (rad)
5

5 5
B s | =
E 810—1:_. T
C 5 E ;
10*25— : +
: 102k
1073 E
I 103
107 E
0107} POV PV Y [T ST R E .
gt - N T N A
osf s Zu ------------------ el | —
osf- N R |- ‘,,_,,,w++l> ............
—1 2 3 _
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1

SSW_CKI__RECUO

—=— DQM_VUUUI_RUUU0U0000T__Global_CM |
—e— DQM_V0001_R000000001__Global_CMSSW_mkfit__RECO

—— DQM_V0001_R000000001_Global —_CMSSW_mkfitCowPtQuad__RECO
— — DOM_V0001_R000000001 _Global _CMSSW _mkfitLowPtTriplel__RECO

1

SICEWATL

1072

z

oo a,) (cm)

8 107 i) 1022 E
3 IS = ;
14 14 l'lE :
PP RS ERFRRPS
0A9;— ------ LT
0.85— -
10 1

o p/p.)

,_.
<
L

Ratio

-

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


